
Select the correct suffix and complete the sentence.

As you have done nothing wrong, you are blame___________.

-less -er

Nine is great__________ than six. 

-ful -er

Mount Everest is the high__________ mountain in the world.

-less -est

The ballet dancer is so grace___________.

-ful -est

Colder
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Answers:

As you have done nothing wrong, you are blameless.

-less -er

Nine is greater than six.  

-ful -er

Mount Everest is the highest mountain in the world.

-less -est

The ballet dancer is so graceful.

-ful -est
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